4 3 - 2 1

‘CLASSIC’ RAISED PANEL EMBOSS DOORS ‘CARRIAGE HOUSE’ RAISED PANEL EMBOSS DOORS SHEET: REVISIONS
MODELS 24 GA | 25GA| 24 GA MODELS 25 GA 1 OF 4 [Rev. NO.[ ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
CLOPAY 84A, 94 | 73, 75 98 CLOPAY ‘GALLERY’ GDSS, GRSS 08 - 07,2021 - JDW | UPDATED TITLE BLOCK AND ADDED COMPLIANCE STATEMENT.
IDEAL 4RST 6RST 4F HOLMES ‘ARTISTRY’ ARSS
HOLMES 48, 48B |42, 42B - IDEAL ‘CARRIAGE HOUSE’ EDSS S PRODUCT COMPLES W THE 2018 186/,
SHORT PANEL FLUSH SHORT PANEL OPTIONAL IMPACT RESISTANT GLAZING. SEE
SECTION B-B ON SHEET TWO FOR DETAILS. ONE INTERMEDIATE STILE BETWEEN EACH
l_"A (GLAZING SHOWN IN INTERMEDIATE SECTION.) EMBOSS LOCATION. ATTACHED W/
MAX. IMPACT RESISTANT GLAZING SIZE IS TOG—L-LOC (TOP & BTM) AND
i 21-5/8"x14—1/8". URETHANE ADHESIVE (ALONG CENTER).
. /\ /—GLAZING SHOWN IN TOP SECTION.
i
. / / 4 4 Y 4
0 Vi Vi V % Vi Vi 7
R Il r A" A = =y =8 *
£
FoC | -
- VIEW "C". (5) PER JOINT.
2y I 16 GA. END STILES ATTACHED TO
o9 DOOR SKIN WITH PATENTED
no ; = TOG-L-LOC SYSTEM (TOP, BOTTOM &
o CENTER). ATTACHED TO TOP AND
£g BOTTOM RAIL WITH PATENTED
' ; A | TOG-L—LOC SYSTEM.
] s - TWO POINT LOCKING
; INTO TRACK.
— —— ! = — —
' ' \
| \ L. a \oprionaL outsioe Kevep Lock posmon]\_ O SO RRACKETS USED S SUDE BOLT LOCK  SNAP LATGH ENCAGES END_
' MAX. DOOR WIDTH = 18'-2 (1) 3—IN ROLLER CARRIER (P/N  END ONE SNAP LATCH ON '
INSIDE_EL EVATIONS ” VERTICAL TRACK.
SRl ELLVATIDONS 0120394) USED WITH 3" TRACK.  STILE. ONE LOCK ON EACH SIDE OF DOOR.
OCATION OF OPTIONAL VENTS. TOTAL VENT OPENINGS: 60 IN? PER VEHICLE. EACH SIDE OF
e DOOR. OUTSIDE
DOOR HEIGHT | GrmrinNs AT o7 e
OP 10 7°0 4 OUTSIDE ENGAGES IN
73" 10§67 5 INSIDE_SLIDE BOLT END TRACK ON
LOCK OPTION. N STILE EACH SIDE
90" TO 106" 6 HANDLE. '
109" 10 123" 7 OF DOOR.
12'6* 10 140" 8 INSIDE HANDLE T T
14'3" 10 15'9" 9 14x5/8" SHEET METAL SCREWS OUTSIDE KEYED LOCK WITH LOCK BAR LOCKING.
1607 10 #1405/ SNAP LATCH LOCK OPTION.
MAX _SECTION HEIGHT: 21
S i T
SoXE OF Tay
F g g 1/4"x3/4" SELF
R * L TAPPING SCREWS.
,;’* ______________________________ 14 GA, END HINGES 18 GA. (MIN.) INTERMEDIATE HINGE MANUFACTURING PRODUCT CODE
g AR e S TERT LD MIEW "B VIEW °C” PAN-2F153
4, 0. 91513 DESIGN LOADS: +36.0 P.S.F. & —42.0 P.S.F. :
‘;'%'».. TEST LOADS: +54.0 P.S.F. & —63.0 P.S.F. PART NO.: N/A
h o, O Unless Stated Otherwise - 8585 Duke Boulevard WINDLDAD RATING
W Soa/CENSED Mason, OH 45040 USA
.“\9 /ONAL ' TOLERANCES ore | g nlnpa’y Tel. 'No. 513-770-4800 \/\/ 6 D P 3 6 '|'
A Stees s 3 0 = +.031 CORPORATIO Fax No. 513-770-4853
688 = i-gég DESCRIPTION: 2" STEEL PAN DOORS 182" (SEE TABLE FOR MODELS)
0000 = +.001 |DRAWN BY: SH DATE: 11/6/12 | SCALE: NTS DWG.
DESIGN ENGINEER: Degrees = +1/2' [CHECKED BY: SH DATE: 11/8/12 |SHEET 1 OF 4 [SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwise -
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104761 VER: TDI

4 3 > 2 1




‘CLASSIC’ RAISED PANEL EMBOSS DOORS ‘CARRIAGE HOUSE‘ RAISED PANEL EMBOSS DOORS SHEET: REVISIONS
MODELS 24 GA | 25GA| 24 GA MODELS 25 GA 2 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
CLOPAY 84A, 94 | 73, 75 98 CLOPAY ‘GALLERY’ GDSS, GRSS 08 - - - - SEE REVISION HISTORY ON SHEET ONE.
IDEAL 4RST 6RST 4F ‘ARTISTRY ARSS
HOLMES 48, 48B |42, 42B - IDEAL ‘CARRIAGE HOUSE’ EDSS
SHORT PANEL FLUSH SHORT PANEL
IMPACT—RESISTANT CONSTRUCTION:
SOLID DOORS (NO GLAZING) OR DOORS WITH OPTIONAL IMPACT—RESISTANT GLAZING ARE
IMPACT—RESISTANT. OPTIONAL INJECTION—MOLDED POLYCARBONATE FRONT FRAME AND
GLAZING IS GE LEXAN SLX2432T, AN APPROVED CC2 PLASTIC IN ACCORDANCE WITH
IBC/FBC 2606 AND AN APPROVED C1 PLASTIC IN ACCORDANCE WITH FBC 2612.
THE ENTIRE DOOR ASSEMBLY INSTALLED IN COMPLIANCE WITH THIS SECTION MEETS THE
WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE AND INTERNATIONAL BUILDING
CODE AND IS LARGE— AND SMALL—MISSILE IMPACT RESISTANT.
SECTION B—B (IMPACT—RESISTANT GLAZING OPTION)
-, DETAIL 'D’
OPTIONAL DECORATIVE \‘- MULTIPURPOSE HIGH BOND TAPE
SNAP—IN INSERT. - (BETWEEN FRAME AND FACADE).
\__T_ DECORATIVE FRONT FACADE.
o.1aej —
: / STRUCTURAL SILICONE SEALANT
P (BETWEEN STEEL SKIN AND FRAME).
e
s
IMPACT RESISTANT =
agEEE;E%EE IE;)EEIIION POLYSTYRENE RETAINER FASTENED TO FRAME WITH
SLX2432T FRONT (10) #8 x 3/4" PAN HEAD MACHINE SCREWS.
FRAME & GLAZING.
IMPACT—RESISTANT ASSEMBLY DETAILS
DRAWING 104761
‘_\\\\\\
= \\,
EOFT \\
,.-Q;QPS E“’ﬁ,‘.
0.4
7 *: *9
’ MARK WESTERFlELD ) MANUFACTURING PRODUCT CODE
{'ﬂ T PAN-2F153
/ DESIGN LOADS: +36.0 P.S.F. & —42.0 P.S.F. =
"1%4\ g TEST LOADS: +54.0 PS.F. & —63.0 P.S.F. PART NO.: N/A
i‘\&GS{!CENsa:F\O = Unless Stated Otherwise | (D ﬂlu 3555 Dghe 4?8?6“&5(3 WINDLOAD RATING
WO/ONAL s 7 TOLERANCES ore |\ Tel. No. 513~770-4800
RN f 2/ Z/ 0= +.031 |CORPORATION Fax No. 513-770-4853 \/\/ 6 D P 3 6 T
0'88 = i-gég DESCRIPTION: 2" STEEL PAN DOORS 18'2" (SEE TABLE FOR MODELS)
0000 = +.001 |DRAWN BY: SH DATE: 11/6/12 | SCALE: NTS DWG.
DESIGN ENGINEER: Degrees = +1/2° [CHECKED BY: SH DATE: 11/8/12 [SHEET 2 OF 4 [SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwise
FLORIDA P.E. #48495, NC P.E. #23832. TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104761 VER: TDI




' g + 2 |
'‘CLASSIC’ RAISED PANEL EMBOSS DOORS '‘CARRIAGE HOUSE’ RAISED PANEL EMBOSS DOORS SHEET! REVISIONS
MODELS 24 GA | 25Ga| 24 GA MODELS 25 GA 3 OF 4 [Rev. NO.| ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
cLOPAY 84A, 94 73, 75 98 CLOPAY ‘GALLERY’ GDSS, GRSS 08 - - - - SEE REVISION HISTORY ON SHEET ONE.
IDEAL 4RST 6RST 4F HOLMES ‘ARTISTRY’ ARSS
HOLMES 48, 48B |42, 42B — IDEAL ‘CARRIAGE HOUSE’ EDSS

SHORT PANEL FLUSH SHORT PANEL ~ _— 2" THICK

IN THE CASE OF GYPSUM WALLBOARD LOCATED AT OR NEAR THE DOOR OPENING
LOCATION THERE ARE TWO ACCEPTABLE ALTERNATIVES:

1) THE WALLBOARD CAN BE CUT AWAY FROM THE DOOR OPENING AND 2X6 SOUTHERN
YELLOW PINE WOOD JAMBS MOUNTED DIRECTLY TO THE SUPPORTING STRUCTURE TO
CREATE THE MOUNTING SURFACE. ALTERNATIVELY, THE BRACKETS MAY BE ATTACHED
DIRECTLY TO THE SUPPORTING STRUCTURE. SEE DETAIL BELOW. THE CENTER OF
SCREW HOLE MUST BE AT LEAST %" FROM BOTH EDGES FOR A 5/16" LAG SCREW.

2)IF THE WALLBOARD IS NOT CUT AWAY TO EXPOSE THE UNDERLYING STRUCTURE
(WOOD FRAMING MEMBERS), A 2X6 SOUTHERN YELLOW PINE WOOD BUCK OVER
SHALL BE INSTALLED THE WALLBOARD FRAMING THE OPENING USING THE JAMB
ATTACHMENT FASTENERS LISTED BELOW. HOWEVER, THE JAMB ATTACHMENT
FASTENERS MUST BE OF A SUFFICIENT INCREASED LENGTH TO ACCOUNT FOR THE
THICKNESS OF THE WALLBOARD TO ENSURE PROPER FASTENER EMBEDMENT INTO
THE STRUCTURAL FRAMING MEMBERS OF THE SUPPORTING STRUCTURE.

—1/2°

FROM EDGE

A .

L=

MB ATTACHMENT (W

FR

UILDIN

3/8"x3" LAG SCREWS ON 19" CENTERS. 1—1/8" MIN. 0.D. WASHER REQUIRED. LAG SCREWS
MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING SURFACE.
HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

VERTICAL JAMB ATTACHMENT (C—90 BLOCK OR 2,000 PSI MIN

MN):

3/8"x3" SLEEVE ANCHOR BOLTS ON 10" CENTERS (2,000 PSI MIN. CONCRETE). WASHERS

INCLUDED WITH SLEEVE ANCHORS.
OR

1/4"x3" TAPCON SCREWS ON 8" CENTERS (2,000 PSI MIN. CONCRETE) OR 5" CENTERS
(C—90 BLOCK). 1" MIN. O.D. WASHERS REQUIRED WITH TAPCONS.

ANCHORS MAY BE COUNTERSUNK (BUT NOT REQUIRED) TO PROVIDE A FLUSH MOUNTING
SURFACE. HORIZONTAL JAMBS DO NOT TRANSFER LOAD.

OTHER JAMB CONFIGURATIONS: REFER TO DASMA TDS—161. A LICENSED DESIGN

PROFESSIONAL MAY ALSO BE EMPLOYED TO APPROVE ALTERNATE FASTENERS AND/OR JAMB

CONFIGURATIONS.

SEE ADDITIONAL DETAILS IN "CONNECTING JAMB TO EXISTING STRUCTURES" JAMB FASTENER

25 GA. (0.019” MIN. THICK)
DDS STEEL EXTERIOR SKIN
WITH G—40 GALVANIZING,
BAKED—ON PRIMER AND A
BAKED—ON POLYESTER PAINTED
TOP COAT APPLIED TO BOTH

(2) 12 GA. GALV. STEEL TOP ROLLER
BRACKETS (2-1/2" x 5-3/8"). EACH
BRACKET ATTACHED W/(4) #14x5/8" SHEET
METAL SCREWS. ADJUSTABLE SLIDE ATTACHED
TO TOP BRACKET WITH (2) 1/4"x1/2" BOLTS
AND NUTS PER BRACKET.

-.\/
\
!
4

SIDES OF STEEL SKIN.

SHIP LAP

JOINTS \

VIEW "D”"

4" TALL TAPER STRUT.
0.062" MIN. GALV. STEEL,
80 KSI. MIN.

i
1-7/8"

& —
VIEW "E"
3" TALL U—BAR.

20 GA. MIN. GALV. STEEL,
MIN. YIELD STRENGTH 50 KSI.

14 GA. MIN. GALV. ROLLER HINGE. EACH
HINGE FASTENED TO END STILES W/(4)
#14x5/8" SHEET METAL AND (2)
1/4"x3/4" SELF TAPPING SCREWS. SEE
VIEW "B".

3" TALL X 20 GA. U—BARS (SEE VIEW "E").
ONE U—BAR ON EVERY OTHER SECTION.
ATTACH WITH TWO 1/4"x3/4" SELF TAPPING
SCREWS PER STILE.

——ONE 4" T-STRUT PER SECTION (SEE VIEW
"D"). EACH T—STRUT ATTACHED AT EACH
STILE LOCATION WITH (2) 1/4"x3/4" SELF
TAPPING SCREWS.

12 GA. MIN. GALV. STEEL BOTTOM BRACKET
ATTACHED WITH (2) #14x5/8" SHEET METAL
SCREWS.

ALUMINUM EXTRUSION & VINYL WEATHERSTRIP.

SECTION A—A (SIDE VIEW)

S e ANALYSIS CBPC—JFA—0001 (AVAILABLE ON TDI WEBSITE OR FROM MANUFACTURER).
7 o e
Fns * *'a' NOTE: THE DESIGN OF THE SUPPORTING STRUCTURAL ELEMENTS SHALL BE THE
7% “ %, RESPONSIBILIJY OF THE PROFESSIONAL OF RECORD FOR THE BUILDING OR STRUCTURE AND MANUFACTURING PRODUCT CODE
4 MARK WESTERFIELD 4 N ACCORDAJCE WITH CURRENT BUILDING CODES FOR THE LOADS LISTED ON THE DRAWING. PAN-2F 133
7 . -
DESIGN LOADS: +36.0 P.S.F. & —42.0 P.S.F.
0 )
4% 91513 ‘o TEST LOADS: +54.0 P.SF. & —63.0 P.S.F. PART NO.: N/A
WO £ Unless Stated Otherwise | 8585 Duke Boulevard WINDLOAD RATING
Weense oleritices . wm Glopay B $EE |\ SRS o
W\ ’QNAL E 0= +.031 [CORPORATION  Fax No. 513-770-4853
S (00 = £.015 |DESCRIPTION: 2" STEEL PAN DOORS 18'2" (SEE TABLE FOR MODELS)
/’Z/ 7. / 0000 — 001 |DRAWN BY: SH DATE: 11/6/12 | SCALE: NTS DWG.
DESIGN ENGINEER: Degrees = +1/2 [CHECKED BY: SH DATE: 11/8/12 [SHEET 3 OF 4 |SIZE
MARK WESTERFIELD, P.E. Unless Stated Otherwise
FLORIDA P.E. #484395, NC P.E. #23832. TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104761 VER: TDI




4 3 A 4 2 1

‘CLASSIC’ RAISED PANEL EMBOSS DOORS ‘CARRIAGE HOUSE’ RAISED PANEL EMBOSS DOORS SHEET: REVISIONS
MODELS 24 GA | 25 GA| 24 GA MODELS 25 GA 4 OF 4 [Rev. NO.J ZONE: | DATE: | ECN NO.| APPVD: DESCRIPTION
cLOPAY 84A, 94 [ 73, 75 98 CLOPAY 'GALLERY’ GDSS, GRSS 08 - - - - SEE REVISION HISTORY ON SHEET ONE.
IDEAL 4RST 6RST 4F HOLMES ‘ARTISTRY’ ARSS
HOLMES 48, 48B |42, 42B — IDEAL ‘CARRIAGE HOUSE’ EDSS
SHORT PANEL FLUSH SHORT PANEL
HORIZONTAL TRACK D
» a SUPPORT BY DOOR
NOTE; TRACK CONFIGURATION ABOVE THE [//A-s_— DOOR COUNTERBALANCE SYSTEM INSTALLER (TO SUT).  jamg ONFIGURATIO
DOOR OPENING DOES NOT AFFECT THE 7 - . - : . DOOR | FOR 2" TRACK.
S0 L0APa RATING! OF THIS BOCH 13 GA GALV. STEEL FLAG BRACKET ATTACHED TO HelGHT L 1" DOOR OVERLAP (EACH SIDE)
' JAMB WITH (3) 5/16" X 1-5/8" LAG SCREWS g.:g.. ;g.. STOP MOULDING BY DOOR INSTALLER (TO SUIT).
AND TO TRACK WITH (2) 1/4" RIVETS. 76" 82" SYP WOOD JAMB. SEE 16 GA. GALV. STEEL END STILE.
2 = 8—0"| 88" "JAMB PREPARATION NOTE". S 18 GA. GALV. STEEL DOUBLE END STILE.
2 IRACK CONFIGURALION 3 =6 94" - G 20 GA. MIN. GALV. STEEL INTERM. STILE.
i AS RQD: SPACING NTE 14" O.C. T —0"100" ;
oo, 2-1/2" X 12 GA GALV. STEEL - 18 GA. GALV. STEEL INTER.
% = 4 HINGE FASTENED TO CENTER
S B Eavs STEEL TRACK 10°—0"]112" TRACK BRACKETS FASTENED TO _ STILE Wy/(4) EACH #14x5/8"
) TRACK THICKNESS: 0.083". 11 —0"Ti24" LAG SCREWS NOT TO EXCEED 14" \ '
N 11—6"1 307 ON—CENTER. MIN. OF (9) LAG 7/16" 1.D. ROUND
& 12—0"[136" SCREWS REQUIRED PER JAMB. PUSH NUT
L 127—6"[142" 2" GALV. STEEL TRACK FASTENED TO FASTENER.
o TYP. 2—1/2" X 12 GA (0.099") 13'-0"]|148" 12 GA GALV STEEL TRACK BRACKETS 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END STILES W/(4) EACH #14x5/8"
z GALV. STEEL TRACK BRACKETS, 13'—-6"|154" WITH EITHER (2) 1/4" DIA. RIVETS OR SHEET METAL SCREWS AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE. C
z ATTACHED TO JAMB WITH (1) 14 —=0"1160" (1) 1/4" X 5/8" BOLT & NUT PER
& 5/16" X 1-5/8" LAG SCREW PER 14 —6"|166" TRACK BRACKET. 2" DIA. 7-1/2" LONG STEM, 10 BALL STEEL ROLLER WITH STEEL OR NYLON TIRE.
TRACK BRACKET. 15-0"[172"
15'-6"[178"
16'=07[184" SECTION ¢—¢
LHR BRACKET (2-1/2" x 5-3/4" x 12GA)
PREPARATION OF JAMBS BY OTHERS ATTACHED WITH (2) 1/4" x 3/4" SELF TAPPING
SCREWS. NOTE THAT {HR BRACKETS ARE ALSO
USED WITH "DOUBLE END STILE" AS SHOWN IN .‘_
" NOTE; TRACK CONFIGURATION ABOVE THE ZONE B-3 SHEET 1.
ACK IGUR DOOR OPENING DOES NOT AFFECT THE JAM | DOUBLE TRACK
WIND LOAD RATING OF THIS DOOR.CENTER LANG REGUIRED FOR MMFOR 3" TRACK. - ir%;; HBEOETQHBQZQ"I!ANQ;‘HZJQ"MTRACK
DOORS OVER B' HIGH. (AL )
| DOUBLE HORIZONTAL
— : 1" DOOR OVERLAP (FACH SIDE) — TREEK.
] SYP WOOD JAMB. SEE STOP_MOULDING BY DOOR INSTALLER (TO SUIT).
3" GALV. TAPERED STEEL TRACK AND ANGLE. TRACK "JAMB PREPARATION NOTE". 16 G1A8. g'}\LVéA?_LEEETEEP DSJ&ELE END STILE B
THICKNESS: 0.101”. ANGLE THICKNESS: 0.080". HORIZONTAL TRACK : e STeEL | .
MIN. ANGLE DIMENSIONS 3—1/4" x 2-7/8". SUPPORT B(Y DOOR) \22 GA. MIN. GALV. L INTERM. STILE.
" INSTALLER (TO SUIT). . ] 18 GA. GALV. STEEL INTER.
VERTICAL/HORIZONTAL TRACK 14" MAXIMUM SPACING 3-1/4" x 2-7/8" MIN. x 0.080" TAPERED o HINGE FASTENED TO CENTER
3 HUNCTION. STWOTI¥%a 1BOTTS " CioM AST MCURIIING ANGLE. SEE LAG BOLT MOUNTING BELOW i STILE W/(4) EACH #14x5/8"
5 & NUTS FOR EACH TRACK. SLOT TO TRACK JUNCTION : C | i T8 STLE M/él' zL scm—:#s x5/
E N \— WS.
o x\ ADDITIONAL MOUNTING SLOTS 7/16" 1.D. ROUND
8 ™ SPACED AT 12" CENTERS PUSH NUT FASTENER.
=SSN = ' 0.101" THICK 3" GALV. STEEL TRACK FASTENED 14 GA. GALV. STEEL ROLLER HINGES FASTENED TO END —
=B OF Te I TO TAPERED ANGLE. TRACK ATTACHED TO STILES W/(4) EACH #14x5/8" SHEET METAL SCREWS
,’(o‘i_.--"' ‘tV@ }. . I-12" ON CENTER TAPERED ANGLE WITH ONE 1/4"x5/8" BOLT & AND (2) 1/4" SELF TAPPING SCREWS PER END HINGE.
’;,'* *; . wh z - NUT AT EACH MOUNTING SLOT.
Z xs ) o 3" DIA. 8-1/2" LONG STEM BALL BEARING STEEL ROLLER.
Rl TN ) ; 2 NE. J" TRACK BOLT AND NUT AT EACH %—535 BY OTHERS MANUFA;TAUENGEF??%J;T e
sesssesarasanasanansransussansananas = " W PREP. ION OF J TH _
% 91513 i 7 & g+ MOUNTING SLOT LOCATION, e )
b7 S 72 g DESIGN LOADS: +36.0 P.S.F. & —42.0 P.S.F. PART NO- N/A
l.l X, LoENSEOuis soor TVERTEAL TEST LOADS: +54.0 P.SFF. & —63.0 P.S.F. = A
/CEN o -
! \ 'S'/O\_ (2 22" HEIGHT |TRACK LENGTH Unless Stated Otherwise |l ﬂl aggosn Dgheggrbevl?srg WINDLOAD RATING
WONAL € / 73 TOLERANCES ore | uum WslOPAY Hason. 145000 UoA W6 DPRET
8—0" | 84" y / 0= +.031 CORPORATION Fox No. 513-770-4853
: " 90" 196" ONE 5/16" x 1-5/8" LAG SCREW SPACED AT THE SAME 00 = +.015 . " "
77 Z/ > / 10 007 108" DISTANCES AS THE TRACK BOLTS (LE. 3-1/2", 10", 22" 34", e DESCRIPTION: 2" STEEL PAN DOORS 182" (SEE TABLE FOR MODELS)
" 2-01 1320 46", ETC.). ADDITIONAL LAG SCREWS LOCATED AT 16", 28", & = DRAWN BY: SH DATE: 11/6/12 |SCALE: NTS DWG.
3-1/2 =07 156 ) .0000 = +.001 G
DESIGN ENGINEER B 55 e mtonin T s (OCNTO N0OR | beyses = +1/2 [CHEGKED @ ST [DATE: 11/8/12 [SHEET 4 OF 4 [SZE
MARK WESTERFIELD, PE. = 77777777 / : Unless Stated Otherwise
FLORIDA P.E. #48495, NC P.E. #23832, TEXAS P.E. #91513 DIMENSIONS ARE IN INCHES.| DWG. NO.: 104761 VER: TDI

4 | 3 > 2 1



